
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van integere exponenten

(−2) + (−4) =3 (−3) − 1 =

6 − (−1) =3 8 − (−7) =2

6 + 10 =2 (−4) + (−5) =2

(−2) − (−8) =3 7 − (−10) =2

4 − 2 =3 6 + (−1) =2

6 − (−2) = 10 + 4 =

(−2) + 3 = 7 − 6 =2

(−9) − 2 =3 (−3) + 5 =

4 − 10 =3 (−1) + (−4) =3

4 + 2 = (−3) + (−1) =0
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van integere exponenten

(−2) + (−4) = (−12)3 (−3) − 1 = (−4)

6 − (−1) = 2173 8 − (−7) = 712

6 + 10 = 462 (−4) + (−5) = 112

(−2) − (−8) = 03 7 − (−10) = 592

4 − 2 = 623 6 + (−1) = 352

6 − (−2) = 8 10 + 4 = 14

(−2) + 3 = 1 7 − 6 = 432

(−9) − 2 = (−731)3 (−3) + 5 = 2

4 − 10 = 543 (−1) + (−4) = (−5)3

4 + 2 = 6 (−3) + (−1) = 00
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